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In the absence of friction and other forces (tension, applied, etc.), the acceleration of an object on an inciine is the
value of the parallel component (m=g=sine of angle) divided by the mass (m). This yields the equation

a=g-sing
(in the absence of fri n and other forces)

In the presence of riction or other forces (applied force, tensional forces, etc.), the Fa——
situation is slightly more complicated. Consider the diagram shown at the right. The

perpendicular component of force still balances the normal force since objects do not

accelerate perpendicular to the indline. Yet the frictional force must also be Faict =208
considered when determining the net force. As in all net force problems, the net
force is the vector sum of all the forces. That is, al the individual forces are added
together as vectors. The perpendicular component and the normal force add to 0 N.
‘The parallel component and the friction force add together to yield 5 N. The net force
is 5 N, directed along the indline towards the floor.

The above problem (and all inclined plane problems) can be simplified through a Foae
useful trick known as “tilting the head.” An incined plane problem is in every way
like any other net force problem with the sole exception that the surface has been ThenetfoxeisSN.

tilted. Thus, to transform the problem back into the form with which you are more
comfortable, merely ti your head in the same direction that the incline was tited. Or better yet, merely tilt the page of
paper (a sure remedy for TNS - "tilted neck syndrome” o “taco neck syndrome") so that the surface no longer appears
level. This is illustrated below.





